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HO¥D( VOB TEIMAEEIE( kgD THRLILLD,
® 21 = @ 101+
@ 411 = 60t
® 80t = @ 783t
@ 50t = 77t
® 300t = O 9t
® 900t = @ 52t
WOFD( kgDETEHNNLESE( )tOETHELILLI,
® 4000kg = 20000kg
@ 10000kg = @ 600000kg
® 800000kg = @ 63000kg
29000kg = @ 409000kg
@ 40000kg = @ 276000kg
3000kg = @ 36000kg
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HOX¥D( MOWMTEINLETE( )kgOBTELILL,

® 21 2000kg @ 1ot = 101000kg
@ 41t 41000kg 60t = 60000kg
® 8ot 80000kg @ 783t = 783000kg
@ 50t 50000kg 77t = 77000kg
® 300t 300000kg @) 9+t = 9000kg
©® 900t 900000kg ® 52t = 52000kg
BO¥D( )kgOBTEINALEIE( OB THRLILL,

® 4000kg 4t 20000kg = 20t
@ 10000kg | Ot @ 600000kg = 600t
(® 800000kg 800t @ 63000kg = 63t
29000kg 29+ @ 409000kg = 4091
@ 40000kg 40t @ 276000kg = 276t
3000kg 3t @ 36000kg = 36t




